Ol_1= A 2E}H|O|E]

TasSH

AR4000HA|2| 2

AR4205H/AR4215H/AR4220H/AR4230H/AR4240H

FAHUAOIIE L

F7|= QPIA| 0| A1 52
Tel:031-8057-9311 Fax:031-8057-9313
WWW.agros.co.kr




yiXe1x{o 3 ZE|H|O|E] 25

=Xt

1. ZEHIOIE] ZEh.....ooeeeee 2
2. Z|0EFA B e 4
3. ERIOIEMEE/ZF ZRh ..o 6
4, ZEMOIE] & ZBh. ..o 7
ST (0] L=2e 7 - S 8
6. AMOIEE/R ZBh...oieee 10
7. BIOIAE ZBh e 12
8. RAH ZRh...oo e 13
0. B 15

ofaz=AE =2 2
2 ozasgs
AgEo=u Uy
BoZoage

8
o
0| FE==H0 E@%‘

SEEHS Us U2 HSctH, BAEO0|E SAIE0IE ofwet FEel 255 SHA| &L
Zlchet 2ot AHy=RUeLt, ofazAE=E QIR =20] ol OHet Y= X|X| pELiCh Lol 2 S5=S5H0| Z8E Y22
= &offoll tisi M= MUS X|X| t&U O oOfazA= ol et MES 8ot e Halg BERota AU
HEZl HEtE 7[Ee 2 AdeUeH, 0l= HEE ME HEE BIH6H| @2 4 UsH T

0|Xl= SHIE M6 Z-otHLt Follols YRS 2fistr| @Igh Z40] ot &

O
"
AO
o
o
1
é
k
Ll
i
o

AR4000H



1. ZEH[O[E] &gt

AGROS =g I3

AR4230H

AR4205H-1000

AR4205H

AR4215H

A
2%

AR4220H

AR4230H

AR4240H

1

Section 1 | 1/2

AR4215H-1000

AR4220H-1000

AR4230H-1000

AR4240H-1000

AR4205H-2000

AR4215H-2000

AR4220H-2000

AR4230H-2000

AR4240H-2000

ALO|ERH/2 =5
X

R4205LC—3000A

E
AtOI=EH/ & =

St
=]

R4205L.C—4000A

ZEHH|0[E = =

R4205L.C—-5000B

R4215LC-5000B

R4220LC—-5000B

AR4230H-5000

AR4240H-5000

AR4205H-6000

R4205L.C—700A

R4215LC—700A

R4220LC—-7000

AR4230H-7000

AR4240H-7000

R4185-8100

R4195-0020

@28

10

[>| oL | >

2 |4l |2

[m o |[n
H
re

e

0

ik

R5210—0030

@12

11

2[0{FH 2IX| 24N

R5210—-0040

ala o=

a=m (N =

s =

ala o=

ala (2=

5T

AR4000H



AGROS Jap ]3]

1. ZEH|O[E] =gt

AR4230H Section 1 | 2/2
o | w3 | s |
£4 ] Hl 2
AR4205H AR4215H AR4220H AR4230H AR4240H
R4185-0050 3 3
12 | ZEEJIE R5210-0050 3 3 6T
R7240-0050 3
R4185—-0060A 3 3
13 |ZEEJI=EZ0|E | R5210—-0060A 3 3 4T
R7240—-0060A 3
14 uE™ R2180-1230 2 2 2 2 2 35T
15 | EBE BH0855125Z 12 12 12 12 12 M8x25L
16 | AZZIQM WS08M 12 12 12 12 12 M8
17 |4E NH08125Z 12 12 12 12 12 M8
18 |E2E BH1457150Z 4 4 4 4 4 M14x140Lx1.5P
19 | AZZIQIM WS14M 4 4 4 4 4 M14
20 |23ayE NL14150Z 4 4 4 4 4 M14x1.5P
21 |23x PL10045 2 2 2 2 2 @10
22 |R-H PR30045 1 1 1 1 1 @3
23 | 2gm PD05050 1 1 1 1 1 @5x50L
AR4000H 3



AGROS Jap ]3]

AR4230H-2000

Section 2 | 1/2

ol o |
AR4205H AR4215H AR4220H AR4230H AR4240H
1| 7l0{8fA HEC| AR4205H-2110 1 1 1 1 1
2 | PTOZ R4185—2120 1 1 1 1 1 @45
3 Uz R4185—2130A 1 1 1 1 1 @45
4 | HIo|mS2{H ol 32208 1 1 1 1 1 HRB
5 | HIO|HS2{H o 32307 2 2 2 2 2 HRB
6 | Hat|of Zat R4185-2140 2 2 2 2 2 @45
7 | €Eof R4185-2150 1 1 1 1 1 M5.5x19T
8 |HEy|of R4185—2160 1 1 1 1 1 M5.5x16T
9 |HE|o R4185-2170 1 1 1 1 1 M5.5x18T
10 | E#|of R4185-2180 1 1 1 1 1 M5.5x17T
11| Y7o R4185-2190 1 1 1 1 1 M1.25x24T
12 | HO|HE2{H|o{A 30309 1 1 1 1 1 HRB
13 | 7tAZI(2]0d) AR4205H—2200 1 1 1 1 1 2T
14 | 7IAN(ZZE) AR4205H—2210 1 1 1 1 1 0.5T
15 | 7HAZI(E) R4185-2220 1 1 1 1 1 0.5T
16 | 7FAZ(ALOIE) R4185-2230 2 2 2 2 2 0.5T
17 | 7ZIAZ(PTO) AR4205H—2240 1 1 1 1 1 0.5T
18 | 7|o{HfA SF AR4205H—-2250 1 1 1 1 1
19 | 3EZ7H AR4205H-2260 1 1 1 1 1
20 | &7 R4185-2270 1 1 1 1 1 8T
21 | ZEREH AR4205H—2280 1 1 1 1 1
R4205LC—2300 1
R4215LC—2300 1
22 | MEE X3/ R4220LC—2300 1
AR4230H-2300 1
AR4240H—2300 1
4 AR4000H



AGROS 3L Ml= 2. 7|0{8tA =8t

AR4230H—-2000 Section 2 | 2/2
ol e |
AR4205H AR4215H AR4220H AR4230H AR4240H
R4205LC—2400A 1
R4215LC—2400A 1
23 | E2I0|EMEE Z8H/E | R4220LC—2400A 1
AR4230H—-2400 1
AR4240H—2400 1
24 | M R4185-2510 1 1 1 1 1 01T
25 A R4185—2520 1 1 1 1 1 0.27
26 | A R4185-2530 1 1 1 1 1 01T
27 | A R4185-2540 1 1 1 1 1 0.2T
28 |2|oiLt 40608 1 1 1 1 1 @ 40x @ 60x8L
29 | AZZQIM WS10M 9 9 9 9 9 M10
30 [EE BH1055125Z 9 9 9 9 9 M10x25Lx1.25P
31 | Azt WS08M 4 4 4 4 4 M8
32 |EE BH0855125Z 4 4 4 4 4 M8x25L
33 | AZQIM WS12M 20 20 20 20 20 M12
34 |EE BH1277125Z 20 20 20 20 20 M12x35Lx1.25P
35 | AZZQLM WS14M 4 4 4 4 4 M14
36 EE BH1477150Z 4 4 4 4 4 M14x35Lx1.5P
37 | 2YAOIX| 0D4K0465—136038 1 1 1 1 1 PF 3/8
38 | mo|=opsy PIPE—PLUGO14SH 2 2 2 2 2 PT 1/4
39 | FSTOoH PF1/2PLUG 1 1 1 1 1 PF1/2
40 | A R4185—2550 1 1 1 1 1 01T
4 A R4185-2560 1 1 1 1 1 0.2T
42 A R4195L.C—2570 1 1 1 1 1 01T
43 A R4195L.C—2580 1 1 1 1 1 0.2T

AR4000H 5



3. ECO|EMEZE/Z} & AGROS EEl‘H‘“OIE‘I

AR4230H—-2400 Section 3 | 1/1

9 =Y Hl 2

AR4205H AR4215H AR4220H AR4230H AR4240H

R4205LC—2400-100 1
R4215LC—2400—100 1
1 | E2lo|EMEE/E} AR4240HS—2400—100 1
AR4230H—2400—-100 1
AR4240H—2400-100 1
2 H[E7|of R4185—2440 1 1 1 1 1 M1.25x34T
R4205LC—2450A 1
R4215—2450A 1
3 | calo|lEs R4220—2450A 1 @50
R4230H—2450A 1
R4240-2450A 1
4 | E=2to|=7]of Zat R4185—2460A 2 2 2 2 2 @60
5 | E2to|=7|of R4185-2470 1 1 1 1 1 M6.5x18T
6 | HolHE2{Ho{ 32212 1 1 1 1 1
7 | HIo|HE2{H 0o 32209 1 1 1 1 1
8 |2lHLt 60x75x8—HMS5-V 2 2 2 2 2 60x75x8
9 |B3ulE/=zlolg R4185-2480 1 1 1 1 1 M40x1.5P
10 |o-& IBG45 2 2 2 2 2 @45
11 | &20|HE NC40150Z 1 1 1 1 1 M40x1.5P
12 | 2gu PD06070 1 1 1 1 1 @6x70L
6 AR4000H



AGROS 3¢ ]3]

4, ZEHH|O|E = =&t

AR4230H-5000

Section 4 | 1/1

I
AR4205H AR4215H AR4220H AR4230H AR4240H
R4205LC-5100C 1
R4215LC-5100C 1
1 EEHHI0IE & R4220LC—-5100C 1
AR4230H-5100 1
AR4240H-5100 1
2 =zol=/? R5210—5010A 24 24 27 27 27 8T
3 =80|=/%t R5210—5020A 24 24 27 27 27 8T
4 |=SZo|l=EE R5210—0056 96 96 108 108 108 M14x1.5Px42L
5 ADZIIN WS14M 96 96 108 108 108 M14
6 HE NH14150Z 96 96 108 108 108 M14x1.5P
AR4000H 7



AGROS J=2p ]2

5. AlO|EEH/x} x5t

R4205LC—4000A Section 5 | 1/2

ol o [
AR4205H AR4215H AR4220H AR4230H AR4240H
1 |AlO|EE2pI &8/Z | R4185-4100B 1 1 1 1 1
2 | HO{Ho]A/E R4185-4010 1 1 1 1 1
3 | d=x/z) R4185-4020 1 1 1 1 1
4 |dE=czio|=7|of R4185-4030 1 1 1 1 1 M6.5x32T
5 | 2EHEHH R4185-3030 1 1 1 1 1 4T
6 |OIE719 R4185-4040 1 1 1 1 1 M6.5x38T
7 | AHEIZEHHO™ 22211 1 1 1 1 1 55x100x25
8 | AwE SN100F 1 1 1 1 1 @100 (INTERNAL)
9 |Aawa SN8OF 1 1 1 1 1 @80 (INTERNAL)
10 | Ho|HZE2{HIo& 30208 2 2 2 2 2
11 | OIE71o et R4185-4050 1 1 1 1 1 @50
12 | OiE7/01= R4185-4060 1 1 1 1 1 @25
13 | O|S7|0f =2zt R4185-4070 1 1 1 1 1 @55
14 | 23°HM R4185-4080 4 4 4 4 4 1T
15 | 7IAZU(ALO|=E) R4185-4220 1 1 1 1 1 0.5T
16 | 7IASU(A=Z/Z) R4185-4210 1 1 1 1 1 1T
17 | ZIAZI(ALO| E7{H) R4185-4230 1 1 1 1 1 2T
18 | EE0|HE NC48150Z 1 1 1 1 1 M48x1.5P
19 |g2gul PD08080 1 1 1 1 1 @8x80L
20 | AIO|EAHH =3 R4185-4300C 1 1 1 1 1
21 | E20|HE NC24150Z 1 1 1 1 1 M24x1.5P
22 | AF|E =B/ R4185-4400C 1 1 1 1 1
23 | 2=2=Z20|E/zt R4185-451A 1 1 1 1 1 5T
24 |BEAI|E= R4185-305A 1 1 1 1 1 10T
25 | 2ol R4205LC—3060 1 1 1 1 1 16T
26 | 2&gu PD05040 1 1 1 1 1 @5x40L
27 |BE BH1077125Z 8 8 8 8 8 M10x35Lx1.25P

AR4000H



AGROS 35 [d]3]

5. AtO|EX/Z =gt

R4205LC—4000A

Section 5 | 2/2

DI
AR4205H AR4215H AR4220H AR4230H AR4240H

28 | AZEIQIM WS10M 24 24 24 24 24 M10
29 |234E NL10125Z 24 24 24 24 24 N10x1.25P
30 |=2E BH1066125Z 20 20 20 20 20 M10x30Lx1.25P
31 |2E BH1086125Z 4 4 4 4 4 M10x40Lx1.25P
32 |2E BH1266125Z 3 3 3 3 3 M12x30Lx1.25P
33 | AZZIIN WS12M 3 8 3 3 3 M12
34 |HE NH12125Z2 3 3 3 3 3 M12x1.25P
3B |EE BFS1285175Z & 3 3 8 3 M12x40L
36 | AZZIIM WD12M 3 3 3 3 3
37 |4E NH12175Z 3 3 3 3 3 M12
38 | HAM WP14M 8 8 8 8 8 M14
39 | AZEIQIM WS14M 15 15 15 15 15 M14
40 |=2E BH1477150Z 12 12 12 12 12 M14x35Lx1.5P
4 =E BH1488150Z 1 1 1 1 1 M14x40Lx1.5P
42 |4HE NH14150Z 7 7 7 7 7 M14x1.5P
43 |=2E BH1499150Z 1 1 1 1 1 M14x45Lx1.5P
4 | EE BH14B7150Z 1 1 1 1 1 M14x55Lx1.5P
45 (o0& 1BP21 2 2 2 2 2 @21
46 |EEE4A SJ0730 1 1 1 1 1 @B 73x@92x31.8L
47 | {30t PF3_8—-SEAL_PLUG 2 2 2 2 2 PF 3/8
48 | F|/F0H PF1/2PLUG 1 1 1 1 1 PF1/2

AR4000H 9



AGROS J2p ]2

R4205LC—3000A

Section 6 | 1/2

ol e | s
AR4205H AR4215H AR4220H AR4230H AR4240H

1 | Afo|EHZI x§/2 | R4185-3100B 1 1 1 1 1

2 | AIEXER R4185-3200C 1 1 1 1 1

3 | HoEH oA/ R4185-3010 1 1 1 1 1

4 |AEX/2 R4185-3020 1 1 1 1 1

5 |2EHEIH R4185-3030 1 1 1 1 1 4T

6 | HOZIFH/2 R4185-3040 1 1 1 1 1

7 | Ho™ 6309 1 1 1 1 1 6309

8 |23alE/calol= R4185-2480 1 1 1 1 1 M40x1.5P

9 |HZAIE R4185—305A 1 1 1 1 1 10T

10 | S0l R4205L.C—3060 1 1 1 1 1 16T

11| ZRAZU(HI O A ) R4185-3070 1 1 1 1 1 1T

12 | 7IAHQIES/Q) R4185-3080 1 1 1 1 1 1T

13 | AIO|=EE E0|E/2 | R4185-3310 1 1 1 1 1 8T

14 | 22= Z40|E/2 R4185-351A 1 1 1 1 1 5T

15 |2E BH1266125Z 3 3 3 3 3 M12x30Lx1.25P
16 EE BFS1285175Z 3 3 3 3 3 M12x40L

17 | AZZQIM WD12M 3 3 3 3 3

18 |HE NH12175Z 3 3 3 3 3 M12

19 | AZEIoHM WS12M 9 9 9 9 9 M12

20 EE BH1296125Z 6 6 6 6 6 M12x45L.x1.25P
21 | HM WP14M 8 8 8 8 8 M14

22 | Amaloty WS14M 24 24 24 24 24 M14

23 |BE BH1477150Z 12 12 12 12 12 M14x35Lx1.5P
24 |E2E BH1488150Z 10 10 10 10 10 M14x40Lx1.5P
25 |2E BH1499150Z 1 1 1 1 1 M14x45Lx1.5P
2% EE BH14B7150Z 1 1 1 1 1 M14x55Lx1.5P
27 |Y4E NH14150Z 3 3 3 3 3 M14x1.5P
10 AR4000H



AGROS 35 [d]3]

R4205LC—3000A

Section 6 | 2/2

o] e[
ARA4205H AR4215H ARA4220H ARA4230H AR4240H
28 | 23lHE NL14150Z 13 13 13 13 3 M14x1.5P
29 |4E NH12125Z 3 3 3 3 3 M12x1.25P
30 | mo|=atH PIPE-PLUGO14SH 1 1 1 1 1 PF 1/4
31 E=gM $J0730 1 1 1 1 1 B73x@P92x31.8L
AR4000H 11



AGROS JEp.|=

AR4205H-6000

A
23

Section 7 | 1/1

m £ 0z
AR4205H AR4215H AR4220H AR4230H AR4240H
1 | B2l AR4205H-6100 1 1 1 1 1
2 |EOiAE/?R AR4205H—6200 1 1 1 1 1
3 | ENtAE/Z AR4205H—6300 1 1 1 1 1
4 |H R4205L.C—0060 1 1 1 1 1 @25
5 |2E BH14M7150Z 4 4 4 4 4 M14x110Lx1.5P
6 | AZZIM WS14M 14 14 14 14 14 M14
7 |4HE NH14150Z 14 14 14 14 14 M14x1.5P
8 |a3m PL10045 1 1 1 1 1 @10
9 |EE BH1499150Z 10 10 10 10 10 M14x45Lx1.5P

12

AR4000H



AGROS Jap ]3]

AR4230H-7000

A

Section 8 | 1/2

C I
AR4205H AR4215H AR4220H AR4230H AR4240H
1 SIx|=as R2180-7100A 1 1 1 1 1
R4205L.C-7200C 1
R4215L.C—7200C 1
2 | 2loHH R4220LC-7200B 1
AR4230H-7200 1
AR4240H-7200 1
3 | HdEmxF R4185-7300A 2 2 2 2 2
4 | ANoO|E SHHH/2 R4185-74008 1 1 1 1 1
5 | Alo|= S17{t/Zt R4185-7500B 1 1 1 1 1
6 |ZEEHI=F R5210-7600 2 2 2 2 2
R4205LC-7010 1 @20x2191L
R4215-7010 1 @20x2223L
7 | BIxiat R4240-7010 1 @20x2337L
R4230H-7010 1 @20x2443L
R4240-7010 1 @20x2497L
8 | ZIEZHIm/ct R4185-7020 2 2 2 2 2 @20x90L
9 |azmy R5210-7030 2 2 2 2 2 @5
10 | gazma R5210-7040 2 2 2 2 2 @5
11 | AHO|A Z3|0|E/2 | R4185-7050 2 2 2 2 2 14T
12 | 710|=E Z0|E R4205LC-7060 2 2 2 2 2 12T
13 |E2=EZgo|E R4205LC-7070 2 2 2 2 2 8T
14 |EE BH1266125Z 4 4 4 4 4 M12x30Lx1.25P
15 |EE BH12B6125Z 4 4 4 4 4 M12x55Lx1.25P
16 | AZZQIM WS12M 8 8 8 8 8 M12
17 |4E NH121257 8 8 8 8 8 M12x1.25P
18 | AN E0|E R2180-7090 4 4 4 4 4 8T
19 |R-E PR50080 4 4 4 4 4 @5
AR4000H 13



8. W7 H Zgt AGROS =[]

AR4230H-7000 Section 8 | 2/2

i H 2

AR4205H AR4215H AR4220H AR4230H AR4240H

HH
og

20 |2 PD03025 2 2 2 2 2 @ 3x25L

21 | 2 PD05040 2 2 2 2 @ 5x40L

22 | SIX|HIRtM R2180—7080 2 2 2 2 2 47

23 | AN WS10M 4 4 4 4 4 M10

24 |2E BH1044125Z 4 4 4 4 4 M10x20Lx1.25P

14

AR4000H



[

B
5o

AGROS J3p ]3]

11

Section 9

AR4230H-DECAL

AR4230H AR4240H

AR4220H

NN~ |||~ ~ N~ |-
NN~~~ | — ~ N~ —
NN~~~ — — N~ |-
NN~ |~ [+~ — N |-
NN~ |||~ | — N - |~
= T
z181888/8/8 <2
555353552999 99%835
N DT B ERNPDDDD S| &
2222333+ +++1z37?
TT7727885588371e
= 2
elieleiei2ig o lad|la|la|dd~| 2
FYINYYEEEER R E DS
O w W w wn 'e]
[l A A A s = G = O I G = G = G I G S G s A S d
Kir
0|2 st
o\x - o
ul EE m o 5
WAOmw|m=_.m.o N B @
SRR X <o &
<& o e B0 = | &
EEE T Ko njw |«
ELAE LA L LA LY Gid g L}
oA < ~ S MW R
—lN ™m0 O~ ¢} o Q=

15

AR4000H



AGROS



